Cross section [pb/ GeV ]

Central value (stat) (bgr) (other syst) (total)
Bin leading jet pt Inclusive
25, 35] 0.040 +0.007 4 0.001 + 0.002 (£ 0.007)
[35,50] 0.162 +0.013 £ 0.003 + 0.004 (£ 0.014)
50, 70] 0.315 +0.014 4 0.005 + 0.003 (£ 0.015)
[70,90] 0.188 +0.012 £ 0.005 + 0.003 (£ 0.013)
(90, 110] 0.126 +0.010 40.003 + 0.003 (£ 0.011)
[110,130] 0.073 +0.009 4 0.002 + 0.003 (£ 0.010)
[130, 160] 0.057 +0.006 £ 0.001 + 0.003 (£ 0.007)
[160, 200] 0.020 +0.004 4 0.001 + 0.002 (£ 0.004)
[200, 300] 0.020 +0.002 £ 0.001 + 0.005 (£ 0.005)
Bin leading jet pt eee
25,35] 0.022 +0.015 4 0.002 + 0.008 (£ 0.017)
[35,50] 0.189 +0.038 £ 0.008 + 0.006 (£ 0.039)
[50,70] 0.257 +0.039 +0.012 + 0.007 (£ 0.041)
[70,90] 0.194 +0.035 +0.010 + 0.011 (£ 0.038)
(90, 110] 0.140 +0.033 40.007 + 0.008 (4= 0.034)
[110,130] 0.109 +0.030 4 0.005 + 0.006 (£ 0.031)
[130, 160] 0.031 +0.016 4 0.004 + 0.004 (£ 0.017)
(160, 200] 0.035 +0.013 £ 0.002 + 0.003 (£ 0.013)
200, 300] 0.023 +0.005 40.001 + 0.006 (& 0.007)
Bin leading jet pt eep
25,35] 0.059 +0.025 4£0.001 + 0.008 (£ 0.026)
35,50] 0.146 +0.031 40.003 + 0.011 (£ 0.033)
[50,70] 0.286 +0.032 £ 0.005 + 0.007 (£ 0.033)
[70,90] 0.224 +0.028 £ 0.005 + 0.006 (£ 0.029)
(90, 110] 0.111 +0.023 +0.002 + 0.005 (£ 0.024)
[110, 130] 0.083 +0.022 £ 0.004 + 0.007 (£ 0.024)
[130, 160] 0.055 +0.013 4 0.002 + 0.003 (£ 0.014)
[160, 200] 0.017 +0.009 =£0.001 + 0.002 (£ 0.010)
[200, 300] 0.019 +0.004 40.001 + 0.004 (&= 0.006)
Bin leading jet p ppe
[25,35] 0.037 +0.013 £ 0.002 + 0.007 (£ 0.015)
[35,50] 0.166 +0.026 4 0.005 + 0.009 (4= 0.028)
[50,70] 0.329 +0.029 £ 0.007 + 0.005 (£ 0.030)
[70,90] 0.181 +0.024 4 0.007 + 0.006 (&= 0.026)
(90, 110] 0.121 +0.021 £ 0.005 + 0.010 (£ 0.024)
(110, 130] 0.067 +0.019 4£0.005 + 0.009 (£ 0.022)
[130, 160] 0.060 +0.012 £ 0.002 + 0.004 (£ 0.013)
[160, 200] 0.015 +0.008 4 0.001 + 0.003 (&= 0.009)
[200, 300] 0.023 +0.003 £ 0.001 + 0.005 (& 0.006)
Bin leading jet pt UUU
25, 35] 0.042 +0.011 £ 0.000 + 0.003 (£ 0.011)
[35,50] 0.155 +0.019 4 0.002 + 0.008 (£ 0.021)
[50,70] 0.333 +0.021 £ 0.004 + 0.004 (£ 0.022)
[70,90] 0.176 +0.017 4 0.004 + 0.006 (£ 0.019)
(90, 110] 0.132 +0.015 +0.003 + 0.004 (£ 0.016)
[110,130] 0.062 +0.013 +0.002 + 0.004 (£ 0.014)
[130, 160] 0.062 +0.009 £ 0.002 + 0.004 (£ 0.010)
[160, 200] 0.020 +0.006 4 0.001 + 0.003 (& 0.007)
[200, 300] 0.018 +0.002 £ 0.001 + 0.005 (& 0.006)



